ASSEMBLY INSTRUCTION

KLEIN
BED BASE

ITEM CODE 74180 /74181 /74182 /74183

Iltem Code Product Description L(mm) | W (mm) | H1 (mm) | H2 (mm)
74180 SINGLE BED BASE 1870 920 203 145
74181 DOUBLE BED BASE 1870 1370 203 145
74182 QUEEN BED BASE 2030 1530 203 145
74183 KING BED BASE 2030 1830 203 145

Imported by JWA Furniture Pty Ltd, Brisbane Qld,Australia.

For any assistance with assembly or for missing parts please refer to your receipt

1




PRE-ASSEMBLY PREPARATION

Before you start:

1.

N

ONOU AW

9.

Choose a clean, level, spacious assembly area. Avoid hard surfaces that may
damage the product

Take care when lifting. Product should be assembled as near as possible to the
point of use

Ensure that you have all required contents for complete assembly

Always read the assembly instructions carefully before beginning assembly.

Keep all hardware parts and packaging out of reach of small children.

Do not over tighten the screws and bolts as this may damage the threads
Assembly is to be carried out by a competent adult(s) ONLY

During assembly, children should be kept away from the product due to possible
risk to injury.

Do not use this item if any components are missing or damaged.

10. Please keep the instructions for future reference.

Allow 20 min For 2 person




PARTS LIST

M8*40 screw
M8*16 screw 8pcs| M8 Wrench 4pcs(SINGLE not
including them)

A-Side support bar*2pcs

B-Centre support bar * 1pc
(Not included or required
for Single)

C-Side support bar*2pcs

D-Wooden slats

E-Leg 7pcs for Double,
Queen & King — 6pcs
for Single

I =i F-Cover

STEP 1:

*  Connect the A side support bar with C side support bar, use M8*16 screw(8 pcs).




STEP 2:

*  Connect side support bars with center support bar, use M8*40 screw(SINGLE don’t have
center support bar).

STEP 3:

STEP 4:

* Assemble the legs, (the legs you can choose assembled or unassembled).

STEP &:

. Pack the non-woven fabric cover.

¥
ek

it




	页 1
	页 2
	页 3
	页 4

